2. Integers

	1.
	Let the number be x and y

x + y = xy - 1


y – x = xy - 5


x + y + 1 = xy

y – x + 5 + = xy

x + y + 1 = y – x + 5

2x = 4   x = 2

Y – 2 + 5 = 2y = y = 3
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2. 
X > -1

X ≥ 3

3.
2x 23 x 8 xx 82 = 128

2x (23 x 23x x 82 = 128

Let 2x be y

y/8 x y3 x 64 = 128

8y/8  = 128/8

y4 = 16
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 -5 x 6  ÷ 2 + (-5)

4.
-12 -3 = 4

4 x 4 + 15

Numerator 16 + 15 = 31

Denominator -5 x 3 + -5 = 31

-15 + -5

-15 + -5

= -20

   
  31

   
 -20

= - 1 11/20
5. 
= (-8) – (-4) + (-16) + (-6)
    
   -9 + 15           46 -13

= -12 + -22
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= -2 – 2
     
          3

= -2 2
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6.
               P-1 =


-1
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7.
-8 (2 + 12 x 9 – 4 x 6

         
56 ( 7 x 2

    
 = -4 + 108 – 24
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 80

16 = 5
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